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� ������� �	
���
�� � 	���� ��
�
� �	��� ����	�� �����	��� [1] � ��
���� �	 ���������
 �
� 
��
�
 ���

�
 ���  � ���	����
�� ����. ��  
��� � !����
�� !��� ���
���
��" 

�
�� [2,3], 	� 

�#	�

� ���
��� 
�

���� � 
��, �
� ����	�� !����� � 
������ 	�����	�� ������� �, !��

� 
!� 
���, �����	 ��
� 	�!���. $�	� �� ���
���
��" 

�
�� [2] ���� �!��������	� � %
!�"�" 
��
���
���
��" 	���, � ������ [3] ���� 	�!�
�	� ����

	�� ��
���
����, 	� 	�����" 
��
���
���
��" �������	�� !��
�� 
����� ����	�� � 	�" !������	� 	� ����. & ������
�
�,  
� 
���
���
��� 

�
�� 
����� ��������� �	
���
 � 
������ ����	��. '	� 
�� �� !�!���
� 

�
�� [4]   
� ��#�
� ���� ����	��, 	�!�
�		�� ���!��	�� ���� !� ��"��
��. ( ����� 
�� �������
�
� � ��� 

�� ����. 
 
������ ����	�� ���� �	
���
	��� � ������
� �����
���	��� !����� � 	� ����
�� [1] �� 

��	��� 
206, ��� �	 �!�
����
 
��), 
����

	� 
 *������, ����
� [5] � "��	�������
��" 
�����" � 
����	���

��" ��
�!�
�". +�� �

� +������ 5.1 � � 	�� !�����
��	� ����������		�� 
�� ,,����	
�, "����
�����)#�� ����

�� �!�
�	��  �
!�����	
���	�" ��		�" 
����
���
��� 
,�������. -������
� 	� ��
����  ����

��  
��� �!�
�	��, ����	�� �����
 ���	�� ������. ��  
�" 
19-
� ����������		�" �� ,,����	
�� ��	�����	�� – 0,656, ���
�����	�� – 0,983 � �����		�� – 
0,953. .)���� ��������, ��	��������
� ��
���
���
��� ������
���  �
!�����	
���	�" ��		�", 
������	�, �
�  
� ����������		�� �� ,,����	
� 
��	����	� ����: �)��� !��

��	�� �����

�� 
���
 ����������		�� �� ,,����	
 ������ 0,99. ��� �

���	�" � !������ 
����)#�� !�����. �� 
��
�	�� 1 ��������	� ��	��	�� �����

�� 
��" ,�	����: y = x10 (a) , y = x2  (�) �  y= x1,5 (�).  
���
��


��)#�� ����������		�� �� ,,����	
� ���	� 0,670, 0,963 � 0,987.  +���� �������, 
���� 
!��"�� �� ����	��-*����
��" �����

�� "��� ��� ��	��	�� �����

�� ,�	����  y = x10. /�����	� 
�" �����

�� "��� ��� ��	��	�� �����

�� ,�	����  y = x2, � 
���� ������ – "���, ��� ��	��	�� 
�����

�� ,�	����  y = x1,5. 0
� �
1 ���	� ���� 
����
� !�
�� ��	��� ������� 	� +������ 5.1, ��� 
�������		��� �����	�� �

�����
���� ��
������.  
 

 (�)  (�)   (�) 

���	
� 1. ��	��	�� ��������� ��	���� y = x10 (a) , y=x2  (�) � y=x1,5 (�).  �

������������ �
�������
		�� 
�
�������	�� ���	� 0,670, 0,963 � 0,987.  

$���
��
� 
�!��� � 
�#�

�� ����
� ����	�� � *�����. *������ ��!�
��� 
�

��
 � 
��, �
� 
�,������	�� �

���� 
�

��
 �� !���!�
���	�� ��	�" � 
�"-�� (�
	�
�
���	� 	����	�") 
���
�� � 
!���������	�� �" � !������ 
  "��	�������
���� 
�������. 2�
��� "�
�
 !������	

������
�  
� 

 !���#�) 

�
�

���
���� �	����� 
��

�� ����	���

��" ��
�!�
��.  $	� �!�
���)
 ��
�!�
� 
 
!���#�) 
.	.  ,�	���� ��3��� �

�����
��� !���
� (
�. *�
. 2(�)),  ��
���� !���

����)
 
���� 
��
�� 

��� � ��
�!�
�, !�
��#�		�" �!������		��� ����, ��� ,�	���) ����. �
!�����)

� 
�� �� 
������
��	�� ,�	���� ��3��� �

�����
��� !���
�, ��
���� !���

����)
 
����  
���� 

���, 
!�
��#�		�" �
�� !������#�� �����, ��� ,�	���) ���� (
�. *�
. 2(�)). 
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���	
� 2. ��	���� 
����� ���
������
�  ����� !�� "����
�
���
� ���
 ��� (�) � ���������	�� ��	���� 

����� ���
������
�  ����� (�). #����		�� !�		�� �$��� �$ [1] (���. 476-477 ).  



����� ����	�� � *���� �������)
 ��
�!�
� 	� 

���
	�� �	
������ � �	�������)
 ������ �� 
�
������ � �
����	�

�. $��	 �� 
���" �
������ (����,����
��� ��
�!�
� �� 854-950 ��) 
��������	 	� ��
�	�� 3(�) (��		�� ���
� �� [1], 

�. 476). 4��
� t –  
� ��� 
 	����� �
�����, � F(t) -
	����������		�� (	� !��		�� ��
�� 

��� � �
�����) ������
��	�� ,�	���� ��3��� �

�����
��� 
!���
�.  �����, � ����	�� � *����� �

� ��!��
���, �
� F(t) ����	� !�������
���	� �!�
���
�
� 
,������� 1 –F(t) =  exp( -λ × tα).  &��� ��� ���� ������,� ����" ��

��  
��� ����	�	��, �� 
!������� ��	��	�� ����	�	�� ln( - ln( 1 - F(t) ) ) = ln(λ) +α × ln(t). ��		�� ��
�	�� 3(�) �  
�" 	���" 
������	�
�" !�����	� 	� ��
�	�� 3(�). 5���������  ����� ln( - ln( 1 - F(t) ) ) � ln(t) ���	� 0.967 
(����	�� � *���� ��)
 !��
� 
���� �� �	���	�� ����������		��� �� ,,����	
� – 0,966. $�	��� 
��� �	���	�� α = 1,46; λ = 3,96 × 10−3   

�
����)

� �
 
��� �
� ��)
 ����	�� � *���� (	��� 
��
��
� 
+������ 1 � [5], 
�� ��� � 
��
��


��)#�� 
������ 5.1 � [1] � ����	�� λ !��!�#�	� !�����
��� 
 �
!�	�
�)   α = 1,51; λ = 9,3 × 10−3 ). 4���
��, �
� ���������� ����� F(t) � t ���	� 0,942 , 
� �

� � 

�#�

��		��� ������	�) !���"�� � ����	��-*����
��� ������	�
�� 	� !�����.  
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���	
� 3.  "
�����$
��		�� (	�  
�		
� ����
 ���
� � 
������) ���������	�� ��	���� 
����� ���
������
� 
 ����� !�� 
������ �$  "����
�
���
� ���
 ��� $� 854-950 �� � 
���	�� (�) � � �
��	�
-
�������� 
�

�!�	���� (�). %����� ��	�� – ��
 ��	��	�� ���������. �

������������ �
�������
		�� �
�������	�� 
���	� 0,942 (�) 0,967 (�).  

����	�� � *���� ����
���� α � λ ��� ��

� ��
�!�
��. ����
���� �� ��
�!�
�� �	� ������� 	� 
	�
������ �
������ � � 	�" !�������
� 19 !�� α � λ � 19 ����������		�" �� ,,����	
�� (� 
��
���" � !�
�� � 	����� 

�
��).  4�
�� ����	�� � *���� 
���	����� !��� α � λ ��� ���	�" 
�
������, �, �
�� �	� ���� ������, 
� ����	�� � *���� 
��
���, �
� 
��
��


��)#��� �
����� 
�!�
���)
 ���	 � 
�
 �� !�����. ����	�� � *���� ������ � ���	 �

�����
��� !����� �
����� 
 α 
����� 1,5 � 3 � λ ����)��#��
� 	� ��� !������ ������	�. (�  
� !�� 
�� �
� α � λ ���� 
�!������	� �� �����

�� � ����

�� ��
���� ���	� 
���
�, �����	�� 	� ��
�	�� 3(�)). 
 
( !����
� � ���� ���!�)
���  � 	���� ��		��, ��
���� 	�!���	�)
 ��		��, �
!�������		�� 
����	�� � *������. �� ��
�	�� 4 !�����	� ������
��	�� ,�	���� �������� ��	�� �� 

��	�� ����� 
���
��
� �� 
��"��
	�� !�����. &��

� ��
�� 

��� �� ����� ��
�� �������� � ���

� ���� – ��	�. & 
�

���	�� �� ��
�	�� 4 ���	� !�"�� 	� ��
�	�� 2(�). 
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���	
� 4. &��������	
� ����
 $����$
� 
!	
� �$ ����	�� ( http://reverent.org/true_art_or_fake_art.html ) �
��
 
���-����� $� �������	��  ���
!. 

 
( 
���	�� 
 !���#�) ��
����� ����	��-*����� ��� !���������" !������: 1.12.2004 – 31.5.2005 �  
1.9.2005 – 2.28.06. ��� !������ ��  
�" !������� � !������ α = 1,98; λ = 9,54 × 10−5; r = 0,932 � ��� 
�
����� α = 2,35; λ = 2,64 × 10−5; r = 0,960. /�� !�

���	�� 
���" "��	�������
��" 
������ ����	�� 
� *���� �
����

����� �

�����
��� !������ 
  α ����� 1,5 � 3 � λ ����)��#��
� 	� ��� !������ 
������	�. �������
���	�, !� ����	��-*����
��� 

�	���
�� 1.12.2004 – 31.5.2005 � 1.9.2005 – 
2.28.06 
��� ����)

� ��	�� � 
�� �� �

�����
��� !�������. 
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